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QUESTION 1

What does a Layer 3 VPN service, which is used by a remote client, use to leverage SSL tunnels to 

securely connect to private networks behind an Edge Gateway? 

A. SSL VPN-Edge services 

B. SSL VPN-Gateway services 

C. SSL VPN-Core services 

D. SSL VPN-Core services 

Correct Answer: A 

 

QUESTION 2

An administrator decides to implement logical switching to establish connectivity between virtual machines that reside
on the same host Which layer is used by logical switching to provide this connectivity? 

A. Layer 4 

B. Layer 5 

C. Layer 3 

D. Layer 2 

Correct Answer: D 

 

QUESTION 3

What is the advantage of live migration of virtual machines with VMware Site Recovery Manager and VMware NSX? 

A. Micro-segmentation security. 

B. Networking beyond data center. 

C. Simplified application deployment. 

D. Reduced Recovery Time Objective (RTO) by 80 percent. 

Correct Answer: D 

 

QUESTION 4

Which internet security protocol does NSX Edge use to interoperate with all major VPN vendors\\' equipment? 
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A. TLS 

B. TCP/IP 

C. HTTPS 

D. IPSec 

Correct Answer: D 

 

QUESTION 5

Which characteristic of VMware NSX enables secure intra-data center network traffic1? 

A. Micro-segmentation 

B. Cloud pod architecture 

C. Elasticity 

D. Multi-tenant manageability 

Correct Answer: A 
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